




































































































Sólucion~ a los problemas del número anterior 

PROBLEMA NUM. 1 

BAZAS OESTE NORTE r:STE SUR 

1. .J .2 .7 +K 
2. + 9 +K + 5 + J 
3. + 10 + 2 + 6 \) 5 
4. o J O K / 10 + 5 
5. o 5 \) 2 J O '\7 K 
6. o 6 (:) 4 --, \7 3 

PROBLEMA NUM. 2 

BAZAS OESTE NORTE ESTt: SUR 

1. 0 0 +0 o 4 () J 
2. \7 2 v A \7 J "7 3 
3. \7 10 \7 7 \7 0 v K 
4. O K +K <) 5 <> 10 
5. + 6 + 3 + 5 + 9 
6. + 8 \7 8 4> 10 + ] 
7. o 6 \7 9 .2 o 8 
8. .6 .4 + 7 V 4 
9 +J +5 +8 \7 3 

10. +0 +K -_? +3 

PROBLEMA NUM. 3 

BAZAS OESTE NORTE ESTE SUR 

1. V 3 + 5 \7 8 \7 10 

2. o 7 O K O A <) 2 
3. +8 +4 +7 +0 
4. \7 7 + 7 +9 \7 0 
5. o 8 () 3 o 5 o 10 
6. \7 9 .10 (> 9 0 0 
7. + 8 + 9 o J o 4 
8. + J +0 + 6 o 6 

BAZAS OESTE NORTE ESTE SUR / 

1. \7 3 + 5 \7 8 \7 10 
2. o 7 O K o 5 o 2 
3. + 8 +0 + 6 o 4 
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